Exercicios

3.a)

trinco MutexBridge, MitexWest,

int WestCars = 0, EastCars

void west _enter () {
esper ar ( Mut ex\West) ;
West Car s++;
if (WestCars == 1) {
esperar ( Mut exBri dge) ;
}

assi nal ar ( Mut exWest) ;

}

voi d west | eave() {

esper ar ( Mut ex\West) ;
West Car s- - ;
I f (WestCars == 0){

}

assi nal ar ( Mut ex\West) ;

assi nal ar (Mut exBri dge) ;

Mut exEast :

voi d east _enter () {
esper ar ( Mut exEast) ;
East Car s++;
if (EastCars == 1) {
esper ar ( Mut exBri dge) ;
}

assi nal ar (Mut exEast) ;

}

voi d east | eave() {
esper ar ( Mut exEast) ;
East Car s- -
If (EastCars == 0) {
assi nal ar (Mut exBri dge) ;
}

assi nal ar ( Mut exEast) ;



